980591 <;f%;:f?>
: e

TYPE 654

e

16.11.20 / - 1120 101/17




&

3,5 x 15 mm

G1

121120

M6 x 10

12 6716

16 %

M6 x 11 mm

j

121187

T6

= Jlex 1x Qu- 8%
111102 E 1422 i790mm GB
S, 16 17x|| @ [8x
F 3,5 x 35 mm G‘Il'.
7 [8x 17x|[
111229 \/BZB 121 375
3 X 1x
11252 111052
J1 44'>» Z
%%i 2 X
SP15
L X 15mm
s | 1X

10 mm

20 mm

30 mm

4O mm

50 mm

60 mm

70 mm

80 mm

980591

16.11.20 / -

120

2/11




20| 2@ G %@

2064 x560x%15 2001x560x15 2015x882x2,5 2015x438%x2,5

1x

1761x560x 15

1x (D
1761x560x 15

ZX@

2205x33x15

1x (L) | LxQY)

L39x408x2.5

L29x5L0x18  HZ9x500xT8 873x500x18
837x4:39x15
Lx Q3 Lx QL)
o : f i . ;
L39%422x4:39%92

L 39x168x15

980591 16.11.20 / - 1120 |3/17




35x 35 mm

Q14

1
@
@
2. g
@
@

@& "
111103 111102
A
A
980591 16.11.20 / - 1120 |04/17




3 %823
1M 252

980591 16.11.20 / - 1120 |05/17




980591

16.11.20 / -

120

06/17




672mm

672mm

112 198

111103

epo00ob ©

%88mm
I
672mm
¥
I
672mm
7
I
120mm
¥
980591 | 16.11.20 / - 1120 |07/17




112 198

[
73mm
I
' F
928mm o :
.YZO
Y20
i
I N
928mm
, ]
M
2o
i
T2mm
i

@uooee@—@

980591 16.11.20 / - 1120 |08/17




> vl
112 198 111229 111102
V
M§ T3mm
A
928mm
.M§
y
A
9728mm
.""".j""/'/ = %
V
72mm
Y20 A
%aeoo 0>0000e
980591 16.11.20 / - 1120 |09/17




1

M6 x 11 mm

174

980591

16.11.20 / -

120

10717




17

111 17L

980591

16.11.20 / -

120

/11




M6 x 11 mm

121181

T6

980591

16.11.20 / -




3,5 x 15 mm G/I

o

121370

17

3,5x 15 mm G1 Kll
121370 111610 17 001
K20
870mm
%
112 402
980591 16.11.20 / - 1120 |13/17




18

w7 T Uw .V

2.

980591

16.11.20 / -

120

16/17




35x 15 mm G1 L0 x 12 mm G 6

g | o

121370 122 625

e

G56
e

372 mm

L 21 mSmP27I

122620

4,0x22 w“

\,

122 609

980591 16.11.20 / - 1120

15/11




11052

121120

SP15

L,

010

WOY'BUNUO-X3WIMDH 831AJ3S B €€ 8658 10550 (6%+)'XB4 0 8658 10950 (6%+) 131
Auewian /34inuuaiiewsbiosn glley /L0%) U9EJ4S0d / DY 3 HQWY s|3puey LJodx3 jiodw| J1epaquyom X IWIM
uswwouJaqn bunyjey 13143U13Y UIPRYISYIES J3PO /pun
-UBUO0SJI3d 13q PJIM DB JUO} JBYDSIULBWYIRS JUYdIU J3pO /pun Jabigews41ydson Judiu 13g
| JOA SUN JIM UBJjeYaq'puls 4ap|NyYdsab J4uydsIdod UaYISIuyIS} wap a1p uabuniapuy

1120 [16/17

® 8mm

2]

(X¥) 1D

QLE 1S

16.11.20 / -

980591

919PON/19POW/119PO

()=




23203 M T

MAX MUSTERMANN

Kommiss your order ref

3377 I\/IINDEN ’

Dekor / Decor

Decor / Modell / Mode'
FO9 SAMPLE
F99842  SCHW, R

T~
PLANKENEICHE NB + RAI

00 CM H 216CH

4147

SOCKEL

Paket NG "o

HSP-SWI_BOD S0MEXT) ..A SOCK
S0-B0D "TeXT RASTEX; WBOD D1 BHh

EIN32 FRESH ~ ™ 7 **
X KLSTA 104

IMEX Wohnbedarf
ort Export Handelsges mbH & Co. KG

Montage - Anleitung

KS-64 ... ... A eorgsmarienhdtte - Germany

SOCKEL32 KLEB

SAMPLE 23.08.19

Modellname Produktionsdatum
Model Date of manufacture

E

—

980591 16.11.20 / - 1120 [17/17




